SOLUTIONS Math 30-1 Transformations Practice Exam

Visit us online for more Math 30-1 Study options

Math30-1Power.com









(c) Here we saw that horizontally tranlating the vertex 4 right achieved the same result as horizontally reflecting the graph of y = f(x).

This can be verified by applying the horiz. reflection to the equation of $y = f(x) \dots$

$$y = \frac{1}{2}((-x) + 2)^2 + 1 \implies y = \frac{1}{2}(-x + 2)^2 + 1 \implies y = \frac{1}{2}[-1(x - 2)]^2 + 1 \qquad \text{Then factor out a "-1"}$$

$$from inside the brackets$$
Same resulting equation as replacing "x" with "-x"
$$\Rightarrow y = \frac{1}{2}(-1)^2(x - 2)]^2 + 1 \implies y = \frac{1}{2}(x - 2)]^2 + 1 \qquad \text{Same resulting equation as replacing "x" with "x - 4" !}$$

(c) For graph of y = h(x), (inverse) switch all points $(x, y) \rightarrow (y, x)$

$$(-4, 3) \rightarrow (3, -4)$$

 $(-2, 1) \rightarrow (1, -2)$
 $(0, 3) \rightarrow (3, 0)$



WR Question 2



NOTE: We need not find an equation for g(x) (though you may to help justify your answers)